

Impact Factor 6.1



Journal of Cyber Security

ISSN:2096-1146

Scopus

DOI

Google Scholar



More Information
www.journalcybersecurity.com



Crossref

doi



Google Scholar

scopus

The probability law (distribution) of birth and death processes

Aziz Arbai

ENSIT - Ecole des nouvelles sciences d'ingénierie –
Le Laboratoire Systèmes, Contrôle et décision, Tanger, Morocco.

November 24, 2025

Abstract

In this article, we consider the case of a birth-death process (B.D.P.) with an infinite number of states and constant birth and death rates (independent of the number of states).

We have determined the deterministic solution (the distribution of the B.D.P.) of the Kolmogorov differential equations for the birth-death process, a solution that depends only on the birth (λ) and death (μ) rates, and this is a first for scientific research.

Keywords: Birth and Death Process, Matrix, Vandermonde matrix, Diagonalisation, Exponentiel of Matrix, Kolmogorov differential equations.

1 Introduction:

Mathematically, birth and death processes are often modeled using systems of differential equations, called direct Kolmogorov equations. These equations describe the evolution of the probability distribution of the number of individuals in the system over time. However, these equations can be notoriously difficult to solve analytically or even impossible, especially for complex systems with non-constant birth and death rates.

As a result, researchers often resort to approximation methods or numerical simulations to study birth-death processes (see [4] and [5]). These methods can provide valuable insights into the behavior of these systems, but they also have limitations. Therefore, there is a constant search for new methods to resolve these equations.

The use of spectral methods to study birth and death processes was pioneered by S. Karlin and J. McGregor (see [11], [10] and [9]). They defined a sequence of polynomials $Q_h(x)$ such that $Q_0(x) = 1$ and $xQ = AQ$.

This article focuses on general birth and death processes with an infinite number of states:

Postulates. The system changes only through transitions from states to their nearest neighbors (from E_n to E_{n+1} or E_{n-1} if $n \geq 1$, but from E_0 to E_1 only). If at epoch t the system is in state E_n , the probability that between t and $t+h$ the transition $E_n \rightarrow E_{n+1}$ occurs equals $Z_n h + o(h)$, and the probability of $E_n \rightarrow E_{n-1}$ (if $n \geq 1$) equals $\mu_n h + o(h)$. The probability that during $(t, t+h)$ more than one change occurs is $o(h)$. ([7] page 454).

This paper builds upon our previous work [1], [2], [3] which laid the foundations for this approach. However, the current study extends and refines these methods, making significant new contributions, especially by applying our formula that gives the n th power of any 2×2 matrix.

Let $(X_t)_{t \geq 0}$ be the discrete and homogeneous "Birth and Death" stochastic process such $\forall (i, j) \in \mathbb{N}^2$

$$P_{ij}(At) = P(X_{t+At} = j | X_t = i) = \begin{cases} Z_i At + o(At); & \text{if } j = i+1 \\ \mu_i At + o(At); & \text{if } j = i-1 \\ 1 - (Z_i + \mu_i) At + o(At); & \text{if } j = i \\ o(At); & \text{if } |j - i| \geq 2 \end{cases}$$

$$\begin{matrix} P_1(t) & 1 \\ P_2(t) & - \\ \vdots & \vdots \\ @P_n(t) & \vdots \end{matrix}, \quad P(0) = \begin{matrix} 1 \\ 0 \\ \vdots \\ @ \end{matrix}$$

with $P_i(t) = P(X_t = i)$, $P(t) = \begin{matrix} P_1(t) \\ P_2(t) \\ \vdots \\ @P_n(t) \end{matrix}$

$$\text{and } \sum_{i \geq 1} P(X_t = i) = 1$$

Z_i is the birth rate and μ_i is the death rate.

Proposition 1 Get $(X_t)_{t \geq 0}$ be the discrete and homogeneous "Birth and Death" stochastic process with conditions (1), so $P(t) = (P_1(t), P_2(t), \dots)^t = (P_i(t))_{i \geq 1}$ is solution of the following linear differential equations system.

$$\begin{aligned} P'_1(t) &= -(Z_1 + \mu_1) P_1(t) + \mu_2 P_2(t) \\ P'_j(t) &= Z_{j-1} P_{j-1}(t) - Z_j + \mu_j P_j(t) + \mu_{j+1} P_{j+1}(t) \quad \forall j \geq 2 \end{aligned}$$

and

$$P'(t) = AP(t)$$

called the backward equation, with

$$A = \begin{bmatrix} -(Z_1 + \mu_1) & \mu_2 & 0 & \cdots & \cdots & \cdots & \cdots & \cdots & 1 \\ Z_1 & \ddots & \ddots & \ddots & & & & & \\ 0 & \ddots & \ddots & \ddots & \ddots & & & & \\ \ddots & & \\ \vdots & 0 & Z_{h-1} & -(Z_h + \mu_h) & \mu_{h+1} & 0 & & & \\ \ddots & & \\ @ & \ddots & \ddots & \ddots & \ddots & \ddots & \ddots & & \end{bmatrix}$$

Proof. $P(X_{t+\Delta t} = j) = \sum_{i \in IN} P(X_{t+\Delta t} = j / X_t = i) P(X_t = i)$

$$\begin{aligned} P(X_{t+\Delta t} = j) &= P(X_{t+\Delta t} = j / X_t = j-1) P(X_t = j-1) + \\ &\quad + P(X_{t+\Delta t} = j / X_t = j+1) P(X_t = j+1) + \\ &\quad + P(X_{t+\Delta t} = j / X_t = j) P(X_t = j) + \\ &\quad + \sum_{\substack{i \in IN \\ i \neq j}} P(X_{t+\Delta t} = j / X_t = i) P(X_t = i) \\ &= Z_{j-1} \Delta t P(X_t = j-1) + \mu_{j+1} \Delta t P(X_t = j+1) + \\ &\quad + 1 - Z_j + \mu_j \Delta t P(X_t = j) + o(\Delta t) \end{aligned}$$

\Rightarrow

$$P_j(t + \Delta t) - P_j(t) = Z_{j-1} P_{j-1}(t) + \mu_{j+1} P_{j+1}(t) - Z_j + \mu_j P_j(t) \Delta t + o(\Delta t)$$

\Rightarrow

$$\frac{P_j(t + \Delta t) - P_j(t)}{\Delta t} = Z_{j-1} P_{j-1}(t) + \mu_{j+1} P_{j+1}(t) - Z_j + \mu_j P_j(t) + \frac{o(\Delta t)}{\Delta t}$$

\Rightarrow

$$P'_j(t) = Z_{j-1} P_{j-1}(t) - Z_j + \mu_j P_j(t) + \mu_{j+1} P_{j+1}(t) \quad 6j \geq 2$$

(When $\Delta t \rightarrow 0$)

... ■

let β be an eigenvalue of the matrix A and $x = (x_h)_{h \in IN}$ and an associated right eigenvector, so $Ax = \beta x$

$$\begin{aligned} -(Z_1 + \mu_1)x_1 + \mu_2 x_2 &= \beta x_1 \\ Z_{h-1}x_{h-1} - (Z_h + \mu_h)x_h + \mu_{h+1}x_{h+1} &= \beta x_h \quad 2 \leq h \leq k \end{aligned}$$

■

$$\mu_{h+1}x_{h+1} - (Z_h + \mu_h + \beta)x_h + Z_{h-1}x_{h-1} = 0, \quad 61 \leq h \leq k$$

with $x_0 = 0$ or $Z_0 = 0$.

1.1 The case of constant birth and death rates: $\lambda_k = \lambda$ and $\mu_k = \mu$:

The associated right eigenvectors ($Ax = \beta x$, $x = (x_h)_{h \in \mathbb{N}}$) will therefore verify the following system

$$(E_h) : \mu x_{h+1} - (Z + \mu + \beta) x_h + Z x_{h-1} = 0, \quad 61 \leq k$$

with $x_0 = 0$ and $x_1 \in IK$.

If $\mu \neq 0$, (E_h) is a second-order linear recurrence sequence with constant coefficients.

$$(E_h) \iff x_{h+1} = \frac{\lambda + \mu + \beta}{\mu} x_h - \frac{\lambda}{\mu} x_{h-1}, \quad 61 \leq k$$

Applying the results of the last subsection concerning second-order linear recurrence sequences with constant coefficients with $a = \frac{\lambda + \mu + \beta}{\mu}$ and $b = -\frac{\lambda}{\mu}$ we will have

$$x_n = u_n = (x_1 - ax_0) \sum_{h=0}^{n-1} \frac{h}{1-2} + x_0 \sum_{h=0}^{n-1} \frac{h}{1-2} \Rightarrow 6n \geq 1$$

$$x_n = x_1 \sum_{h=0}^{n-1} \frac{h}{1-2}$$

such λ_1 and λ_2 are solutions of $\mu^2 - (Z + \mu + \beta) + Z = 0$ (and $x_0 = 0$).

Let $A = (Z + \mu + \beta)^2 - 4Z\mu$
1st case: If $(Z + \mu + \beta)^2 = 4Z\mu$, so $\lambda_1 = \lambda_2 = \frac{\lambda + \mu + \beta}{2\mu} = \frac{Z}{\mu}$, and $6n \geq 1$

$$x_n = n \frac{Z + \mu + \beta}{2\mu} x_1$$

2st case: If $(Z + \mu + \beta)^2 \neq 4Z\mu$, so $\lambda_1 \neq \lambda_2$, and $6n \geq 1$

$$x_n = \frac{\lambda_1^n - \lambda_2^n}{\lambda_1 - \lambda_2} x_1$$

such $\lambda_1 = \frac{(\lambda + \mu + \beta) + \Delta^{\frac{1}{2}}}{2\mu} \in IK$ and $\lambda_2 = \frac{(\lambda + \mu + \beta) - \Delta^{\frac{1}{2}}}{2\mu} \in IK$ ($IK = IR$ or s).

$$\frac{\lambda_1^n - \lambda_2^n}{\lambda_1 - \lambda_2} \in IR$$

since, $\lambda_1 = \frac{(\lambda + \mu + \beta) + \Delta^{\frac{1}{2}}}{2\mu} \in s \setminus IR \Rightarrow \lambda_2 = \frac{(\lambda + \mu + \beta) - \Delta^{\frac{1}{2}}}{2\mu} = -\lambda_1$ (as $(Z, \mu, \beta) \in IR^3$)

2 The left eigenvectors:

Remark 2 In the same way and method that we used to determine the right eigenvectors ($Ax = \beta x$) (x_h) $_{h \geq 1} = Q(\beta)$, we could do it to find the left eigenvectors $yA = \beta y$.

Let now $U(X) = (y_h)_{h \geq 1}^t = (y_1, y_2, \dots)$ such $UA = XU$ and $X = \beta$

$$\begin{aligned} & \begin{aligned} & -(Z_1 + \mu_1)y_1 + Z_1y_2 & = \beta y_1 \\ & \mu_2y_1 - (Z_2 + \mu_2)y_2 + Z_2y_3 & = \beta y_2 \\ & \vdots & \vdots \\ & yA = \beta y \Leftrightarrow & \end{aligned} \\ & \begin{aligned} & \mu_hy_{h-1} - (Z_h + \mu_h)y_h + Z_hy_{h+1} & = \beta y_h \\ & \vdots & \vdots \\ & & \end{aligned} \end{aligned}$$

with $y_0 = 0$, $Z_h = Z$ and $\mu_h = \mu$

The associated left eigenvectors ($yA = \beta y$, $y = (y_h)_{h \in \mathbb{N}^*}$) will therefore verify the following system

$$\mu y_{h-1} - (Z + \mu + \beta) y_h + Z y_{h+1} = 0$$

$$(E_h) : \mu y_{h-1} - (Z + \mu + \beta) y_h + Z y_{h+1} = 0, \quad 61 \leq k$$

$$\Rightarrow Z y_{h+1} = -\mu y_{h-1} + (Z + \mu + \beta) y_h, \quad 61 \leq k$$

with $y_0 = 0$ and $y_1 \in IK$.

\Rightarrow

$$(E_h) \Leftrightarrow y_{h+1} = \frac{Z + \mu + \beta}{Z} y_h - \frac{\mu}{Z} y_{h-1}, \quad 61 \leq k$$

Remark 3 It is the same system of equations as in the case of right-hand eigenvectors by permuting lambda "Z" with mu "μ".

Theorem 4 1st case: If $(Z + \mu + \beta)^2 = 4Z\mu$, so $\lambda_1 = \lambda_2 = \frac{\lambda + \mu + \beta}{2\lambda} = \sqrt{\frac{\mu}{\lambda}}$ and $6n \geq 1$

$$y_n = n \frac{Z + \mu + \beta}{2Z}^{n-1} y_1 = n \frac{\lambda + \mu + \beta}{2\lambda}^{n-1} y_1 = n \frac{\mu}{Z}^{\frac{n-1}{2}} y_1$$

2st case: If $(Z + \mu + \beta)^2 \neq 4Z\mu$, so $\lambda_1 \neq \lambda_2$, and $6n \geq 1$

$$y_n = \frac{\lambda_1^n - \lambda_2^n}{\lambda_1 - \lambda_2} y_1$$

such $\lambda_1 = \frac{(\lambda + \mu + \beta) + \Delta^{\frac{1}{2}}}{2\lambda} \in IK$, $\lambda_2 = \frac{(\lambda + \mu + \beta) - \Delta^{\frac{1}{2}}}{2\lambda} \in IK$ ($IK = IR$ or s) and $A = (Z + \mu + \beta)^2 - 4Z\mu$.

3 The probability law (distribution) of birth and death processes:

Let, $X = \beta$, $U = U(X) = (y_h)_{h \geq 1}$ and

$$f(X, t) = U(X) P(t)$$

$$\text{So, } P'(t) = AP(t) \Rightarrow UP'(t) = UAP(t) \Rightarrow$$

$$UP'(t) = XUP(t)$$

$$\Rightarrow \frac{6f(x,t)}{6\overline{f}(x,t)} = U(X)P'(t) = U(X)AP(t) = XU(X)P(t) = Xf(X, t)$$

$$\Rightarrow f(X, 0) = y_1 \in IK$$

$$\text{since } P(0) = (1, 0, \dots)^t$$

So,

$$f(X, t) = y_1 e^{Xt} = U(X) P(t) = \sum_{h=1}^{\infty} y_h(X) P_h(t)$$

3.1 1st case: If $(\lambda + \mu + \beta)^2 = 4\lambda\mu$

$$\text{So, } \beta_1 = \beta_2 = \frac{\lambda + \mu + \beta}{2\lambda} = \frac{\mu}{\lambda}, \text{ and } \beta = -(Z + \mu) - 2\sqrt{Z\mu} = \beta_+ \text{ or } \beta_-$$

with $\beta_+ = -(Z + \mu) + 2\sqrt{Z\mu}$ and $\beta_- = -(Z + \mu) - 2\sqrt{Z\mu}$ are the two possible eigenvalue of A .

• A have 1 eigenvalue $\beta = -(Z + \mu) + 2\sqrt{Z\mu}$

So we have 3 possibilities • A have 1 eigenvalue $\beta = -(Z + \mu) - 2\sqrt{Z\mu}$

• or A have 2 eigenvalues β_+ and β_-

and $6n \geq 1$

$$y_n = n \frac{Z + \mu + \beta}{2Z}^{n-1} y_1 = n \frac{\mu}{Z}^{n-1} y_1 = n \frac{\mu}{Z}^{\frac{n-1}{2}} y_1$$

$$\Rightarrow f(X, t) = y_1 e^{Xt} = U(X) P(t) = \sum_{h=1}^{\infty} y_h(X) P_h(t)$$

$$\Rightarrow f(X, t) = \sum_{h=1}^{\infty} k \frac{\mu}{Z}^{h-1} y_1 P_h(t) = \sum_{h=1}^{\infty} k \frac{\mu}{Z}^{\frac{k-1}{2}} y_1 P_h(t)$$

$$\Rightarrow e^{Xt} = \sum_{h=1}^{+\infty} k \frac{\mu}{Z}^{\frac{k-1}{2}} P_h(t)$$

$$\Rightarrow f(X, t) = y_1 e^{Xt} = U(X) P(t) = \sum_{h=1}^{\infty} y_h(X) P_h(t) = \sum_{h=1}^{\infty} n \frac{\lambda + \mu + X}{2\lambda}^{n-1} y_1 P_h(t)$$

$$\Rightarrow e^{Xt} = \sum_{h=1}^{+\infty} k \frac{Z + \mu + X}{2Z}^{h-1} P_h(t)$$

From another point of view, let

$$\begin{aligned}
 & \frac{Z + \mu + X}{2Z} = z \\
 \Rightarrow & \frac{X = 2Zz - (Z + \mu)}{e^{[2\lambda z - (\lambda + \mu)]t}} = \sum_{h=1}^{\infty} kz^{h-1} P_h(t) \\
 \Rightarrow & \int_0^z e^{[2\lambda x - (\lambda + \mu)]t} dx = \sum_{h=1}^{+\infty} z^h P_h(t) \\
 \Rightarrow & e^{-(\lambda + \mu)t} \int_0^z e^{2\lambda t x} dx = \sum_{h=1}^{+\infty} z^h P_h(t) \\
 \Rightarrow & \frac{e^{-(\lambda + \mu)t}}{2Zt} e^{2\lambda t z} - 1 = \sum_{h=1}^{+\infty} z^h P_h(t) \\
 \Rightarrow & \frac{e^{-(\lambda + \mu)t}}{2\lambda t} e^{2\lambda t z} - 1 = \sum_{h=1}^{+\infty} z^h P_h(t) \\
 \Rightarrow & \sum_{h=1}^{+\infty} \frac{(2\lambda t)^h}{h!} z^h = \sum_{h=0}^{+\infty} \frac{(2\lambda t)^h}{h!} z^h P_h(t) \\
 \text{as } e^{2\lambda t z} = \sum_{h=0}^{+\infty} \frac{(2\lambda t z)^h}{h!} = \sum_{h=0}^{+\infty} \frac{(2\lambda t)^h}{h!} z^h \\
 \Rightarrow & P_h(t) = \frac{(2Zt)^{h-1}}{k!} e^{-(\lambda + \mu)t}, \quad 6^k \geq 1
 \end{aligned}$$

3.2 2d case: If $(\lambda + \mu + \beta)^2 \neq 4\lambda\mu$

So $\alpha_1 \neq \alpha_2$, and $6n \geq 1$

$$\begin{aligned}
 y_n &= \frac{\alpha_1 - \alpha_2}{\alpha_1 - \alpha_2} y_1 \\
 \text{such } \alpha_1 &= \frac{(\lambda + \mu + \beta) + \Delta^{\frac{1}{2}}}{2\lambda} \in IK, \quad \alpha_2 = \frac{(\lambda + \mu + \beta) - \Delta^{\frac{1}{2}}}{2\lambda} \in IK \quad (IK = IR \text{ or } s) \text{ and} \\
 A &= (Z + \mu + \beta)^2 - 4Z\mu. \\
 \Rightarrow f(X, t) &= y_1 e^{\alpha_1 t} = U(X) P(t) = \sum_{h=1}^{+\infty} y_h(X) P_h(t) = \sum_{h=1}^{+\infty} \frac{\alpha_1 - \alpha_2}{\alpha_1 - \alpha_2} y_1 P_h(t) \\
 \Rightarrow & e^{\alpha_1 t} = \sum_{h=1}^{+\infty} \frac{\alpha_1 - \alpha_2}{\alpha_1 - \alpha_2} P_h(t)
 \end{aligned}$$

with $X = \beta$.

$$\Rightarrow (\alpha_1 - \alpha_2) e^{\alpha_1 t} = \sum_{h=1}^{+\infty} \alpha_1 - \alpha_2 P_h(t) \Rightarrow$$

$$\sum_{h=1}^{+\infty} \alpha_1 - \alpha_2 P_h(t) = \alpha_1 e^{\alpha_1 t} - \alpha_2 e^{\alpha_2 t}$$

$$\begin{aligned} {}_1 &= \frac{(\lambda+\mu+\chi)+\Delta \frac{1}{2}}{2\lambda}, \quad {}_2 = \frac{(\lambda+\mu+\chi)-\Delta \frac{1}{2}}{2\lambda} \Rightarrow \\ X &= \frac{Z {}_1^2 + \mu}{{}_1} - (Z + \mu) = \frac{Z {}_2^2 + \mu}{{}_2} - (Z + \mu) \\ \Rightarrow & {}_1 e^{xt} = e^{-(\lambda+\mu)t} {}_1 e^{\frac{\lambda {}_1^2 + \mu}{2} t} = e^{-(\lambda+\mu)t} g({}_1) \end{aligned}$$

with

$$g(x) = e^{\frac{\lambda x^2 + \mu}{2} t}$$

$$\sum_{h=1}^{+\infty} {}_h - {}_2 P_h(t) = {}_1 e^{xt} - {}_2 e^{xt} = e^{-(\lambda+\mu)t} [g({}_1) - g({}_2)]$$

The function $g(x) = x e^{\frac{\lambda x^2 + \mu}{2} t}$ presents a major difficulty: an essential singularity at $x = 0$ due to the term $e^{\frac{\mu}{2} t}$ (if $\mu \neq 0$ and $t = 0$).

Consequently, it does not admit a power series (Taylor series) around $x = 0$. However, it does admit a Laurent series around $x = 0$.

3.2.1 Laurent series of $g(x)$ around $x = 0$:

We will use the Laurent series expansion of the function $h(x) = e^{\frac{\lambda x^2 + \mu}{2} t}$, and multiply it by x . Recall the Laurent series of $h(x)$.

$$h(x) = \sum_{n=-\infty}^{+\infty} c_n x^n \quad \text{with}$$

$$c_n = \sum_{h=\max(0, -n)}^{\infty} \frac{(tZ)^{n+h} \cdot (t\mu)^h}{(n+k)! \cdot k!}$$

$$g(x) = xh(x) = x \sum_{n=-\infty}^{+\infty} c_n x^n = \sum_{n=-\infty}^{+\infty} c_n x^{n+1} = \sum_{n=-\infty}^{+\infty} c_{n-1} x^n = \sum_{n=-\infty}^{+\infty} s_n x^n$$

$$s_n = c_{n-1} = \sum_{h=\max(0, 1-n)}^{\infty} \frac{(t\lambda)^{n+k-1} \cdot (t\mu)^k}{(n+h-1)! \cdot h!}$$

This Laurent series is the expansion we are looking for around the singularity $x = 0$. It is valid for all $x \neq 0$. So,

$$\begin{aligned} g({}_1) &= \sum_{n=-\infty}^{+\infty} s_n {}_1^n = \sum_{n=-\infty}^{+\infty} s_n {}_1^n + s_0 + \sum_{n=1}^{+\infty} s_n {}_1^n \\ &= \sum_{n=1}^{+\infty} s_{-n} {}_1^{-n} + s_0 + \sum_{n=1}^{+\infty} s_n {}_1^n \end{aligned}$$

the seem thing

$$g({}_2) = \sum_{n=1}^{+\infty} s_{-n} {}_2^{-n} + s_0 + \sum_{n=1}^{+\infty} s_n {}_2^n$$

μ_1 and μ_2 are solutions of $\mu^2 - (Z + \mu + \beta) + Z = 0 \Rightarrow \mu_1, \mu_2 = Z$

\Rightarrow

$$\begin{aligned}\mu_1 &= \frac{\mu}{Z} - 1 \quad \text{and} \\ \mu_2 &= \frac{\mu}{Z} + 1\end{aligned}$$

$$\begin{aligned}\Rightarrow g_1(-1) &= \sum_{n=1}^{\infty} s_{-n} \frac{\mu}{\lambda} \frac{n}{-1} + s_0 + \sum_{n=1}^{\infty} s_n \frac{n}{2} \\ \Rightarrow g(-1) &= \sum_{n=1}^{\infty} s_{-n} \frac{\mu}{\lambda} \frac{n}{-1} + s_0 + \sum_{n=1}^{\infty} s_n \frac{n}{2} \\ \Rightarrow g(-2) &= \sum_{n=1}^{\infty} s_{-n} \frac{\mu}{\lambda} \frac{n}{-2} + s_0 + \sum_{n=1}^{\infty} s_n \frac{n}{1} \\ \Rightarrow \sum_{h=1}^{\infty} \frac{h}{1} - \frac{h}{2} P_h(t) &= e^{-(\lambda+\mu)t} [g(-1) - g(-2)] \\ &= e^{-(\lambda+\mu)t} \sum_{n=1}^{\infty} s_{-n} \frac{\mu}{\lambda} \frac{n}{-1} + s_0 + \sum_{n=1}^{\infty} s_n \frac{n}{2} - \sum_{n=1}^{\infty} s_{-n} \frac{\mu}{\lambda} \frac{n}{-2} - s_0 - \sum_{n=1}^{\infty} s_n \frac{n}{1} \\ &= e^{-(\lambda+\mu)t} \sum_{n=1}^{\infty} s_{-n} \frac{\mu}{\lambda} \frac{n}{-1} - s_n \frac{n}{1} - \sum_{n=1}^{\infty} s_{-n} \frac{\mu}{\lambda} \frac{n}{-2} - s_n \frac{n}{2} \\ \Rightarrow \sum_{h=1}^{\infty} \frac{h}{1} - \frac{h}{2} P_h(t) &= e^{-(\lambda+\mu)t} \sum_{n=1}^{\infty} s_{-n} \frac{\mu}{Z} \frac{n}{-1} - s_n \frac{n}{2} \quad | \\ \Rightarrow P_n(t) &= s_{-n} \frac{\mu}{Z} \frac{n}{-1} - s_n \frac{n}{2} e^{-(\lambda+\mu)t}, \quad 6n \geq 1\end{aligned}$$

$$\text{with } s_n = \sum_{h=\max(0,1-n)}^{\infty} \frac{(t\lambda)^{n+h-1} \cdot (t\mu)^h}{(n+h-1)! \cdot h!}$$

$$n \geq 1 \Rightarrow 0 \geq 1 - n \Rightarrow \max(0, 1 - n) = 0 \Rightarrow$$

$$s_n = \sum_{h=0}^{+\infty} \frac{(t\lambda)^{n+h-1} \cdot (t\mu)^h}{(n+k-1)! \cdot k!}$$

Conclusion 5 :

This article builds on our previous work [1], which laid the foundations for this approach. However, the current study extends and refines these methods, making our new innovative contribution. More precisely, we outline the method for searching for the probability law (distribution) of birth and death processes in the general case.

It remains to be seen whether we can apply the same trick as in [9] (see [6], [9] and [12]) with well-chosen conditions to construct or assert the existence of a positive regular measure, with respect to which this time the functions (instead of the polynomials) are orthogonal.

Acknowledgement 6 "Detailed Calculation of the Laurent Series Coefficient s_m ":

We have here a more detailed explanation of the steps and calculations that led to the coefficient s_m of the Laurent series for the function $f(x) = xe^{(\lambda x + \frac{\mu}{x})t}$ around $x = 0$.

Here are the calculation details, starting from the initial series expansion.

1. Decomposition of the Exponential Function

The function $f(x)$ can be rewritten and decomposed into a product of two series, using the property $e^{a+b} = e^a e^b$ and the Taylor series expansion of $e^z = \sum_{h \geq 0} \frac{z^h}{h!}$:

$$f(x) = xe^{(\lambda x + \frac{\mu}{x})t} = x \cdot e^{\lambda x t} e^{\frac{\mu}{x} t}$$

We expand the two exponential terms separately:

1- Taylor Series for $e^{\lambda x t}$ (Positive Powers of x):

Setting $z = \lambda x t$:

$$e^{\lambda x t} = \sum_{h \geq 0} \frac{(\lambda x t)^h}{h!} = \sum_{h \geq 0} \frac{(\lambda t)^h}{h!} x^h$$

- Laurent Series for $e^{\frac{\mu}{x} t}$ (Negative Powers of x):

Setting $u = \frac{\mu t}{x}$:

$$e^{\frac{\mu}{x} t} = \sum_{h=0}^{+\infty} \frac{(\frac{\mu}{x} t)^h}{h!} = \sum_{h=0}^{+\infty} \frac{(\mu t)^h}{h!} x^{-h}$$

2- Calculation of the $g(x) = e^{(\lambda x + \frac{\mu}{x})t}$ Development

The intermediate function $g(x) = e^{\lambda x t} e^{\frac{\mu}{x} t}$ is the product of the two series above. The general term $c_n x^n$ in the Laurent series $g(x) = \sum_{n=-\infty}^{+\infty} c_n x^n$ is obtained by multiplying a term from the first series (index j) by a term from the second series (index k) such that the sum of the powers of x equals n :

Total Power: $j + (-k) = n \Leftrightarrow j = n + k$

For a given n (which can be positive or negative), we sum over all possible indices $k \geq 0$. Since j must also be non-negative $j \geq 0$, the condition $j = n + k$ requires that $n + k \geq 0$, or $k \geq -n$.

The lower bound for k is therefore $\max(0, -n)$.

$$c_n x^n = \sum_{h=\max(0, -n)}^{+\infty} \frac{(\lambda t)^j}{j!} x^j \cdot \frac{(\mu t)^h}{h!} x^{-h}$$

Substituting $j = n + k$ and grouping the powers of x :

$$c_n = \sum_{h=\max(0, -n)}^{+\infty} \frac{(\lambda t)^{n+k}}{(n+h)!} \cdot \frac{(\mu t)^h}{h!}$$

3- Calculation of the $f(x)$ Development

The final function is $f(x) = x g(x)$.

$$f(x) = x \sum_{n=-\infty}^{+\infty} c_n x^n = \sum_{n=-\infty}^{+\infty} c_n x^{n+1}$$

Application of Index Shift

We want to express $f(x)$ in the standard Gauent series form: $f(x) = \sum_{n=-\infty}^{\infty} s_n x^n$.

for relate the two sums, we apply the index shift:

$$m = n + 1$$

Which implies:

$$n = m - 1$$

By substituting the index n with $m - 1$ in the sum for $f(x)$:

$$\sum_{n=-\infty}^{\infty} c_n x^{n+1} = \sum_{n=-\infty}^{\infty} c_{n-1} x^n$$

By identification, the new coefficient s_m equals the old coefficient c_n when

$$n = m - 1:$$

$$s_m = c_{m-1}$$

Final Formula for Goefficient s_m

We substitute $n = m - 1$ into the formula for c_n :

$$s_m = c_{m-1} = \sum_{h=\max(0, -(m-1))}^{\infty} \frac{(\lambda t)^{(m-1)+h}}{((m-1)+h)!} \cdot \frac{(\mu t)^h}{h!}$$

Simplifying the lower bound $\max(0, -(m-1))$ to $\max(0, 1-m)$ and simplifying the exponent/denominator:

$$s_m = \sum_{h=\max(0, 1-m)}^{\infty} \frac{(\lambda t)^{m+k-1}}{(m+h-1)!} \cdot \frac{(\mu t)^h}{h!}$$

this formula provides the coefficient of x^m in the Gauent series expansion of $f(x)$.

References

- [1] Arbai A., Benslimane M., ElOussati M. Birth and Death Processes with Finished Number of State. International Journal of Mathematics and Statistics Invention (IJMSI) E-ISSN: 2321 - 4767 P-ISSN: 2321 - 4759 www.ijmsi.org Volume 5 Issue 7 || August. 2017 || PP-01-10. 2017.
- [2] Arbai A., El Merouani M., Bellekhir A. Exact Solutions for Finite-State Birth-Death Processes: A Matrix-Theoretic Approach and Generalizations. In Franco-Moroccan Mathematics Days (F2MDays'25), page 40. 2025.
- [3] Arbai A. 2x2 Matrix: Calculation of the n-th Power. Journal of Basic and Applied Research International, 31(5):146–153. 2025.
- [4] Crawford FW. and Suchard MA. Transition probabilities for general birth-death processes with applications in ecology, genetics, and evolution. J Math Biol. 2012 Sep;65(3):553-80. doi: 10.1007/s00285-011-0471-z. Epub 2011 Oct 9. PMID: 21984359; PMCID: PMC3310285. 2012.
- [5] Crawford FW, Ho LST, Suchard MA. Computational methods for birth-death processes. Wiley Interdiscip Rev Comput Stat. 2018 Mar

Apr;10(2):e1423. doi: 10.1002/wics.1423. Epub 2018 Jan 2. PMID: 29942419; PMCID: PMC6014701. 2018.

- [6] Favard, J. Sur les polynomes de Tchebicheff, C. R. (Doklady) Acad. Sci. URSS. vol. 200 pp. 2052-2053. 1935.
- [7] Feller, W. An introduction to probability theory and its applications, John Wiley and Sons, 1950.
- [8] Feller, W. Die Grundlagen der Volterra'schen Theorie des Kampfes ums Dasein in wahrscheinlichkeitstheoretischer Behandlung. Acta Biotheor. 5, 11–40, 1939.
- [9] Karlin S., McGregor J. L. "The Differential Equations of Birth-and-Death Processes, and the Stieltjes Moment Problem". Transactions of the American Mathematical Society, vol. 85, no. 2, 1957, pp. 489–546. JSTOR, <https://doi.org/10.2307/1992942>.
- [10] Karlin S., McGregor J. L. "Representation of a class of stochastic processes". Proc. Nat. Acad. Sci. U.S.A. vol. 41 pp. 387-391. (1955).
- [11] Karlin S., McGregor J. L. "Random walks". Illinois J. Math. 3 , 66-81. (1959).
- [12] Njionou Sadjang, P., Kalda Sawalda, D., Mboutngam, S. et al. Caractérisations non linéaires des polynômes orthogonaux classiques. Mediterr. J. Math. 20 , 10. 2023. <https://doi.org/10.1007/s00009-022-02207-y>